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SECTION-A 

 

I. प्रश्न सॊख्मण 1 से 10 तक प्रत्मेक प्रश्न भें चणय विकल्ऩ दिमे गमे हैं, जजनभें से मसपफ  
एक सही है। आऩ उन विकल्ऩ को चनुें एिॊ उत्तय ऩत्र भें चचजननत कयें : 

 

1. ऩरयमोजनण प्रततिेिन सणयणॊश है 

(a) तथ्मों कण 

(b) सचूनणओॊ कण  

(c) विश्रेषर् कण 

(d) इनभें से सबी 

 

2. एक सपर उद्मभी भें अिश्म ही गुर् होनण चणदहए  

(a) नेततृ्ि कण  

(b) तनमॊत्रर् कण 

(c) निप्रितफन कण  

(d) इनभें से सबी 
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3. प्रणप्तकत्तणफ को डबेफट औय प्रिणतण को के्रडडट कण तनमभ रणगू होतण है 

(a) व्मजततगत खणतण भें 

(b) िणस्तविक खणतण भें 

(c) नणभभणत्र खणतण भें 

(d) व्मणऩणय खणतण भें 

 

4. जन तनऺेऩ सणधन है 

(a) अल्ऩकणरीन वित्त कण 

(b) िीघफकणरीन वित्त कण  

(c) भध्मकणरीन वित्त कण 

(d) सणभणजजक तनिेश कण 

 

5. ब्रणण्ड फतरणतण है 

(a) चचनन 

(b) डडजणइन 

(c) नणभ 

(d) इनभें से सबी 

 

6. जस्िय रणगत भें शणमभर यहतण है  

(a) सणभग्री की रणगत 

(b) श्रभ की रणगत 

(c) शजतत की रणगत  
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(d) कणयखणनण रणगत 

7. रणबणॊश है। 

(a) शदु्ध रणब  

(b) रणब कण तनमोजन 

(c) सॊचम कोष 

(d) अवितरयत रणब कण अॊश 

 

8. भलू्म नीतत होती है  

(a) उऩबोततण के ऩऺ भें 

(b) सयकणय के ऩऺ भें 

(c) उत्ऩणिक-तनभणफतण के ऩऺ भें  

(d) सबी के ऩऺ भें 

 

9. नग्न ऋर्ऩत्र होते हैं  

(a) ऩरू्फत् सयुक्षऺत 

(b) आॊमशक सयुक्षऺत 

(c) असयुक्षऺत 

(d) इनभें से कोई नहीॊ 

 

10. विऻणऩन कण उद्िेश्म है 

(a) सॊबणवित के्रतणओॊ को आकवषफत कयनण 

(b) ग्रणहक को सचूनण िेनण एिॊ भणगफिशफन कयनण  

(c) उत्ऩणिों कण प्रचणय कयनण 
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(d) इनभें से सबी 

II. प्रश्न सॊख्मण 11 से 15 तक के प्रत्मेक प्रश्न भें िो किन (किन-I एिॊ किन-II) दिमे 
गमे हैं। इन किनों के आधणय ऩय दिमे गमे विकल्ऩनों (a), (b), (c) औय (d) से सही 
विकल्ऩ कण चनुणि कयें : 

 

(a) िोनों किन सही हैं तिण किन-II, किन-I की सही व्मणख्मण है। 

(b) िोनों किन सही हैं ऩयन्तु किन-II किन-I की सही व्मणख्मण नहीॊ है। 

(c) किन-I सही है, ऩयन्तु किन-II असत्म है  

(d) किन-I असत्म है, ऩयन्तु किन-II सही है 

 

11. किन-I : आचिफक विकणस उद्ममभतण के विकणस ऩय तनबफय है। 

किन-II : उद्ममभतण विकणस कणमफक्रभ एक प्रमशऺर् कणमफक्रभ है। 

 

12. किन-I : प्रफॊध एक जस्िय विचणय है।  

किन-II : प्रफॊध िसूयों के द्िणयण कणमफ कयणने की क्रक्रमण है।  

 

13. किन-I : क्रकसी रघ ुउऩक्रभ की यीढ़ उसके द्िणयण प्रित्त उत्ऩणि एिॊ सेिणएॉ हैं। 

किन-II : उत्ऩणि रूऩयेखण एिॊ उत्ऩणिन रूऩयेखण िोनों एक जैसे कणयक हैं।  

 

14. किन-I : विऩर्न धन की फफणफिी है। 

किन-II : विऩर्न धन की फफणफिी नहीॊ है। 

 

15. किन-I : ऩिूणफनभुणन तनमोजन कण प्रभखु रऺर् है। 

किन-II : तनमोजन बविष्म के फणये भें िेखतण है अिणफत ्ऩिूणफनभुणन रगणतण है।  
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III. प्रश्न सॊख्मण 16 से 18 तक भें खणरी स्िणनों को दिमे गमे विकल्ऩों भें से उऩमतुत 
उत्तय से बयें तिण उत्तय ऩत्र भें चचजननत कयें :  

 

16. व्मणिसणतमक असपरतण कण एक प्रभखु कणयर्........... है | 

(a) कभजोय प्रफॊध 

(b) अऩमणफप्त ऩूॉजी 

(c) अतनऩरु् श्रमभक 

(d) छोटण फणजणय 

 

17. एक उद्मभी कणभगणय औय...........िोनों ही होतण है। 

(a) प्रफॊधक 

(b) स्िणभी 

(c) तनिेशक 

(d) के्रतण 

 

18. व्मणिसणतमक विकणस की िहृत यर्नीतत............ है। 

(a) फणजणय विस्तणय 

(b) कुशर प्रफॊधन 

(c) आक्रणभक विऻणऩन 

(d) घटी हुई रणगत 
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IV. तनम्नमरखखत प्रश्न सॊख्मण 19 से 22 तक भें तणमरकण दिमे गमे हैं। तणमरकण I भें 
चणय प्रश्न है एिॊ तणमरकण II भें चणय विकल्ऩ (a), (b), (c) औय (d) है। आऩ इन िो 
तणमरकणओॊ को ध्मणन से ऩढ़ें एिॊ सही उत्तय को उत्तय ऩत्र भें चचजननत कयें  

तणमरकण-I      तणमरकण-II  

19. िशै्िीकयर् (a) क्रकसी व्मणऩणय, उद्मोग मण व्मिसणम प्रणयम्ब कयने की 
स्ितॊत्रतण  

20. आधतुनकीकयर् (b) बफनण क्रकसी प्रशणसतनक तनमॊत्रर् के उद्मभी को कणमफ कयने 
की अनभुतत िेनण 

21. उिणयीकयर् (c) तकनीक एिॊ गुर्ित्तण को फढ़णनण  

22. तनजीकयर् (d) अन्तयणफष्रीम स्तय ऩय िस्तु एिॊ सेिणओॊ कण भतुत प्रिणह 

 

V. प्रश्न सॊख्मण 23 से 25 तक भें एक उद्धयर् के सणि तीन प्रश्न दिए गए हैं। आऩ 
इस उद्धयर् कण अध्ममन कयें एिॊ प्रित्त विकल्ऩों भें से सही उत्तय चनुें एिॊ उत्तय ऩत्र भें 
चचजननत कयें : 

उद्धयर् : 1992 भें वित्त सवुिधण तिण अन्तययणष्रीम व्मणऩणय को बणयत भें फढ़णिण िेने के 
मरए एतसऩोटफ-इम्ऩोटफ फैंक ऑप इॊडडमण की स्िणऩनण की गमी िी। मह िेश भें आमणत-
तनमणफत के मरए वित्त सम्फन्धी सॊगठनों के कणमफ भें सहणमतण के मरए भखु्म सॊगठन है 
एजतजभ फैंक ने मतूनट रस्ट ऑप इॊडडमण (UTI) की बणयतीम औद्मोचगक उद्मभी इकणई 
मोजनण भें तनिेश कयके उद्मभी ऩूॉजी भें प्रिेश क्रकमण है। 

 

23. एजतजभ फैंक की स्िणऩनण की गई 

(a) 1986 भें  

(b) 1993 भें 

(c) 1991 भें 

(d) 1992 भें 
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24. एजतजभ फैंक की स्िणऩनण की गई 

(a) वित्त सवुिधण हेत ु

(b) अन्तयणफष्रीम व्मणऩणय हेतु  

(c) (a) औय (b) िोनों 

(d) इनभें से कोई नहीॊ 

 

25. एजतजभ फैंक सहणमतण िेती है। 

(a) आमणत-तनमणफत के वित्त सम्फन्धी कणमों भें  

(b) पण्ड एकबत्रत कयने भें  

(c) तकनीकी कणमों भें 

(d) इनभें से सबी  

 

SECTION - B 

प्रश्न सॊख्मण 1 से 8 रघ ुउत्तयीम प्रश्न हैं। प्रत्मेक प्रश्न 3 अॊक कण है। 

1. उद्मभी कौन है ?  

2. उऩक्रभ तमण है ? 

3. प्रोजेतट रयऩोटफ तमों आिश्मक है ? 

4. रेखणॊकन अनऩुणत के विमबन्न प्रकणय कौन-कौन से हैं? 

5. प्रफन्ध की कोई तीन विशषेतणएॉ फतणइए। 

6. विऩर्न के कोई तीन कणमों को फतणइए  

7. विऻणऩन के कोई तीन उद्िेश्मों को फतणइए 

8. विऩर्न मभश्रर् तमण है ? 
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प्रश्न सॊख्मण 9 से 11 तक िीघफ उत्तयीम कोदट के प्रश्न हैं। प्रत्मेक प्रश्न 6 अॊक कण है।  

9. उऩक्रभ के चनुणि भें सणहसी को क्रकन फणतों कण ध्मणन यखनण चणदहए ?  

अििण 

पुटकय विके्रतण के भखु्म कणमफ तमण हैं? 

 

10. सभ-विच्छेि बफन्ि ुतमण है ? मह कैसे ऻणत क्रकमण जणतण है ? 

अििण 

कणमफशीर ऩूॉजी की आिश्मकतण आऩ कैसे तनधणफरयत कयेंगे ? 

 

11. प्रफन्ध को ऩरयबणवषत कयें। इसके कणमों कण िर्फन कयें।  

अििण 

विऩर्न तिण विक्रम भें अन्तय फतणइमे । 
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SECTION-A 

1. For Question Nos. 1 to 10 there are four options in every question. Out of these only 

one option is correct. You have to choose the correct answer from these options and 

mark in the Answer Sheet. 

 

1. Project report is a summary of 

(a) Facts 

(b) Informations 

(c) Analysis 

(d) All of these 

 

2. A successful entrepreneur must posses the quality of 

(a) Leadership 

(b) Informations 

(c) Analysis 

(d) All of these 

 

3. Debit to Receiver and credit to criver law is on 

(a) Personal A/c 

(b) Real A/c  

(c) Nominal A/c 

(d) Business A/c 
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4. Public deposit resources is 

(a) Short term loan 

(b) Long term loan 

(c) Mid term loan 

(d) Social Investment 

 

5. Brand indicates 

(a) Symbol 

(b) Design 

(c) None 

(d) All of these 

 

6. It is not included in fixed cost. 

(a) cost of goods 

(b) cost of labour  

(c) cost of power 

(d) cost of facotry 

 

7. Dividend is  

(a) Net profit 

(b) Appropriation of profit 

(c) Reserve fund  

(d) Undistributed profit share 

 

8. Price policy is 

(a) Consumers side  

(b) Government's side 

(c) Producer 

(d) All sided 
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9. Naked debentures are 

(a) Fully secured  

(b) Partly secured 

(c) Unsecured 

(d) None of these 

 

10. The purpose of advertisement is  

(a) To attract potential buyers 

(b) To inform and guide customers 

(c) To make publicity of product 

(d) All these  

 

II. In question nos. 11 to 15. there are two statements (statement I and statement II). 

Given in each question. Choose the correct option for each question out of options (a), 

(b), (c) and (d) on the basis of these statements: 

 

11. Consider the following statements: 

Statement-I : Economics development depend upon entrepreneurs development. 

Statement-II: Entrepreneur development programme is a training programme. Of these 

statements: 

(a) Both the statements are true and statement II is the correct explanation of statement I. 

(b) Both the statements are true and statement II is not the correct explanation of 

statement I 

(c) Statement I is true, but statement II is false. 

(d) Statement I is false, but statement II is true. 

 

12. Consider the following statements: 

Statement-I: Management is a static thinking  

Statement-II: Management is an art of getting things done from others. 

Of these statements: 

(a) Both the statements are true and statement II is the correct explanation of statement I. 
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(b) Both the statements are true and statement II is not the correct explanation of 

statement I.  

(c) Statement I is true, but statement II is false.  

(d) Statement I is false, but statement II is true. 

 

13. Consider the following statements: 

Statement-I: The back bone of any small scale enterprises to produce of product and 

services. 

Statement-II: Product structure and production structure are the same factors. 

Of these statements: 

(a) Both the statements are true and statement II is the correct explanation of statement I.  

(b) Both the statements are true and statement II is not the correct explanation of 

statement I. 

(c) Statement I is true, but statement II is false. 

(d) Statement I is false, but statement II is true.  

 

14. Consider the following statements: 

Statement-I: Marketting is a wastage of money. 

Statement-II: Marketing is not a waste of money.  

Of these statements: 

(a) Both the statements are true and statement II is the correct explanation of statement I. 

(b) Both the statements are true and statement II is not the correct explanation of 

statement 1.  

(c) Statement I is true, but statement II is false. 

(d) Statement I is false, but statement II is true.  

 

15. Consider the following statements: 

Statement-I: Forecasting is the important characteristic of planning. 

Statement-II: Planning looks towards future with a sense of anticipating  

Of these statements: 

(a) Both the statements are true and statement II is the correct explanation of statement I.  
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(b) Both the statements are true and statement II is not the correct explanation of 

statement I.  

(c) Statement I is true, but statement II is false. 

(d) Statement I is false, but statement II is true. 

 

III. For questions nos. 16 to 18, fill in the blanks with appropriate answer from the 

options given and mark it in the Answer sheet. 

 

16. The cause of an unsuccesfful business is ............... 

(a) Weak management  

(b) Inappropriate capital  

(c) Unskilled labour 

(d) Small market 

 

17. An entrepreneur is both ............. 

(a) Manager 

(b) Owner 

(c) Investor 

(d) Buyers 

 

18. The broader policy of business development is ........... 

(a) Expansion of market  

(b) Skillful management  

(c) Attractive advertisment 

(d) Decreased cost  

  

IV. In question no. 19 to 22, there are two columns. Column I contains four questions 

and column II contains four options (a). (b), (c) and (d). You have to match the correct 

options of the these questions (a). (b), (c) and (d) from column II. 

Column-1   Column-II 

19, Globlisation  (a) Independence of starting up any, trade business 
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20. Modernisation  (b) Without any public controlling allowed to any entrepreneur. 

21. Liberation  (c) Improvement of technique and quality. 

22. Privatisation  (d) Free flow of goods and services at international level. 

V. In question no. 23 to 25, there is a passage followed by three questions. You have to 

go through the passage and choose the correct alternatives from the options given and 

mark it in the Answer sheet: 

In 1992, in order to facilitate, Finance and international trade the export- import bank of 

India was founded and it helps the organisations trading in export-import business which 

is one of the major financial organisations helping in the finance related matters to 

encourage the business.  

Exim bank by investing on the Unit Trust of India (UTI) under the Indian Technology 

Venture unit scheme entered into the area of venture capital finance.
 

 

23. Exim bank was established 

(a) 1986 

(b) 1993 

(c) 1991 

(d) 1992 

 

24. Exim bank was established  

(a) To facilitate finance 

(b) For international trade 

(c) Both 

(d) None of these 

 

25. Exim bank helps 

(a) Financial matters of export import 

(b) Collection of fund 
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(c) Technical works 

(d) All of these 

SECTION - B 

Question Nos. 1 to 8 are Short Answer Type. Each question carries 3 marks. 

1. Who is Entrepreneur 

 2. What are Enterprises? 

3. Why it is essential "Project work"?  

4. What are different types of accountings ratios?  

5. Discuss the three advantages of management.  

6. Explain three functon of marketing. 

7. Explain three objectives of advertising.  

8. What is marketing mix ? 

 

Question Nos. 9 to 11 are Long Answer Type. Each question is of six marks. 

9. What steps taken by entrepreneur in the selection of enterprises.  

Or 

What are the main functions of retailer? 

 

10. What is Break Even Point? How is it calculated?  

Or 

How do you determined the necessity of working capital? 

 

11. Define management and its functions. 

Or 

Differentiate between marketing and selling. 
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